T —
EEH=E ERB/NMNER. Z2FRHA

A A | OB #8 | H g = H =
=R/ NE SR
FTERY

2.24 m2= 224 m2
»ma

1.95 m3= 1.95 m3
HLaro)—k

0.10 m3= 0.10 m3
tyLars)—rE
peg 0.28 m2= 0.28 m?2
£ 91—k

0.34 m3= 0.34 m3
Eilp

1.04 m2= 1.04 m2
HEEEIE

1.95 m2= 1.95 m2
T

0.47 m3= 047 m3
HOHERL

0.09 m3= 0.09 m3
aTiL

1.68 m2= 1.68 m2
£
et E 7.95 Kg 795 Ke |
TE#=E 795 Kg X 1.04 = 8.27 Kg
Ze2H A8

(Al&ET L)

iz

2.44 m3= 2.44 m3
HaERE

0.84 m3= 0.84 m2
BLavy)—k

0.04 m3= 0.04 m3
tyLars)—rE
peg 0.26 m2= 0.26 m?2
£ar9)—k

0.21 m3= 021 m3
Eilp

1.54 m2= 1.54 m2
HEEEIE

0.84 m2= 0.84 m2
T

0.33 m3= 0.33 m3
HOHERL

211 m3= 211 m3
E5:1)]
HRETHE 8.06 Kg 8.06 Kg
TE#H=E 8.06 Kg X 1.04 = 8.38 Kg
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T | 7 o W= 1,200 mm
T = |/ | L= 1,400 mm
T e | H1= 200 mm
e H1'= 100 mm
100 ) o H2= 50 mm
H3= 100 mm
CZ RO® F g = B =
h RS
1R (120 m+ 0.10 mXx2) x ( 1.40 m+
010 mx2)= 224 m2
Efa FS
224 m2x 025 m= 056 m3
h K& B Al
BuER 130 mX 150 m= 195 m2Xx 1 1.95 m2
B eaiil
195 m2x 010 mX 1= 0.20 m3
h K& B eaiil
HLavo)—k 130 mX 150 mX 005 mX 1 0.10 m3
Lars)—rH mh & Ex Vaiil
F ( 130 m+ 150 mx2x 005 mX 1 0.28 m2
h K& B eaiil
£ 51—k 1.20 mXx 140 mX 020 mX 1 0.34 m3
h K& B eaiil
MGLFavHy—hk 1.20 mXx 140 mX 010 mx 1= 0.17 m3
RS B m|
gy e (120 m+ 140 m)X 020 mx 2 1.04 m2
M & Caiil
,,,,,,, H o F 1.30 m X 150 mx 1 1.95 m2
WEx  fETary)—k GLTaVYY—k
iz 020 m3+ 010 m3+ 0.17 m3= 047 m3
ALY Bt
HEHERL 056 m3-  0.47 m3= 0.09 m3
a7 L
1.20 mXx 140 m= 1.68 m2
N—RFH@300(%2T
S5 D10 1.20 mXx 6.00 A= 7.20 m“|
33 JL
140 mXx 500 A= 700 m| 1420 m
Hiuss
1420 mX 056 7.95 Kg |

2/3




AEEr £

oAl BEG AU RER Hig @/ R4 E
850
/—?mya%mo
! "
HaH | | HaH
il i
8 W-L:::::::JW
S ot
E I Il
= I JHH
[ ——— [l
1! I sg:970y 40100
. ﬁ ﬁ/(m,w;a.wxzm)
© i e
GL oL |} il 500
= I Il = mm
i — W T VaeREAnl = 600 mm
E ﬁ f ‘ | !ﬂLﬁj‘/m—ir L1i ggg mm
L L | : ; /—7?"1 Yy TV - mm
_t \ JI_ — : TEHAUFR 1 &
o o %= > = 7S
g s0 50 500 508
; 500 . EHE= 2 i
500 wx L Wx L 500
% W pS I &t " = B =
M &
HEE (060 m+ 050 mx2) x ( 0.50 m+
RS LAzl
050 mx2+085m) x 065 mXx 1 244 m3
M & LAzl
e R 0.60 m X 0.70 mx 2 0.84 m2
Ex
084 m2x 010 mXx 1= 0.08 m3
M & Ex LRzl
HLavo—k 0.60 mXx 0.70 mXx 005 mx 2 0.04 m3
#BLavo)—rHA M & Ex eaiil
Fl ( 060 m+ 0.70 mx2x 005 mXx 2 0.26 m2
M & Ex LAzl
HEa 91—k 0.50 mXx 060 mXx 035 mx 2 021 m3
& Ex [i] LRzl
pidp oA (050 m+ 0.60 m)Xx 035 mXx 2 X 2 1.54 m2
M & LRzl
EL & IF 0.60 m X 070 mx 2 0.84 m2
HhE ETay avo1)—k
&t 008 m3+ 004 m34+ 021 m3= 0.33 m3
LY %kt
HBBHRL 244 m3- 0.33 m3= 211 m3
pam N X AT m
£ 9] D10 (0.35m+0.60m) X 2 X 2 X 2 = 7.6
X AT m
(0.35m+0.50m) x 2 X 2 X 2 = 6.8
7.60 m+ 680 m= 1440 m
HiEs
1440 mx 0.56 8.06 Kg
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